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RS AL ABRETT HLA—A, B, DRB1 + Ciltfz - (ff=— =) 35,000.00 [
() HLA—A, B, DRB1 +Ci#ifs 8 (EL=—=X) 42,000.00 [1
HLA—A, B, DRB1+Ciltfa 1 (P Lh=a—=) 28,000.00 [
HLA—A, B, DRBLE/A 7R (ffiifE=— %) 28,500.00 1
HLA—A, B, DRBLE{A TR (ER=a—2) 34,200.00 1
HLA—A, B, DRBIE{A 7R (Lha—2) 22,800.00 1
HLA— AR 71 (e —2) 11,500.00 [
HLA— AR T8 (BRa—2) 13,800.00 [
HLA— AR T (D Eha—2R) 9,200.00 1
HLA— Bz 7R (FiifE=—2) 11,500.00 [
HLA—B#{s 7 (ER=a—2X) 13,800.00 [
HLA—B#{s 7 (dLha—2) 9,200.00 1
HLA—C# a7 (fi = —2) 11,500.00 [
HLA—C#/Ia R (ERa—2) 13,800.00 [1
HLA—CB/I5 7R (PpLhzm—2) 9,200.00 1
HLA—DRB1#A 1 (i —2) 11,500.00 [
HLA—DRBL#fs -5 (ERa—2X) 13,800.00 H W E
HLA—DRB1#{5 7R (pLha—2) 9,200.00 1
BT AY R L (e —2) 25,000.00 H
BT AR L (EET—2R) 30,000.00 M
BT AR L (D EDa—2R) 20,000.00 H
HLAZZ A 1 HUEA Y — =27 (i —R) 10,000.00 [
HLAZZA 1 UkAI) —=0 7 (o —2R) 12,000.00 [
HLAZZ A 1 HERT ) == 7 (DLha—2) 8,000.00 1
HLAZZANHURAY Y — =27 (FEifE— ) 10,000.00 [
HLAZ ZAMNHURAI ) — = 7 (o —2R) 12,000.00 [
HLAZZANFUEAT Y — =2 7 (D Lha—2) 8,000.00 1
HLAZZ A 1 HUfkla & (= —2) 20,000.00
HLAZZ A 1 HUfkla g (BEa=a—A) 24,000.00 [
HLAZZ A T HURRGE (P Lh=—2) 16,000.00 M
HLAZZ A N ikl E (B iz — ) 20,000.00 [
HLAZZ 2 MUk E (B —A) 24,000.00 [
HLAZZ A MURRE (P Lh=—2) 16,000.00 M
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HLAS R R FF R AR RA Bl (14 247-Y)

HLA—A, B, DRB1 + Citfz 77 (= — =) 38, 500. 00 M On, MBI OHITH#BL 3, 500. 00 1)
HLA—A, B, DRB1 +Citfs 7#l (ERaa—=x) 46, 200. 00 1 (O, HABLL OHITIHEEEL 4, 200. 00 H)
HLA—A, B, DRB1+Ci#{{z 7R (pLh=1—=%) 30, 800. 00 M On, MBI UHITH#BL 2, 800. 00 1)
HLA—A, B, DRB1#/{R 73 (ff iz — %) 31, 350. 00 [ (5%, {HEBLL O H#E L 2, 850. 00 1)
HLA—A, B, DRBI#/ R (EZa—X) 37, 620. 00 [ (5, {HEBL L O H#EBL 3, 420. 00 1)
HLA—A, B, DRBLEE TR (Peh=1—=) 25, 080. 00 [ (5%, {HEBL L U7 H#BL 2, 280. 00 1)
HLA— AJR 73 (2 — %) 12, 650. 00 F (5b, {HFFLL U7 HFEEL 1, 150. 00 H)
HLA— AR (EE=a—2) 15, 180. 00 M (5, {HFBLKL U7 iH#EHL 1, 380. 00 M)
HLA— AR 7R (P Lhz—2) 10, 120. 00 4 (OB, {HEBLL OHTHER.  920. 00 )
HLA—B#{a 1 (5= — %) 12, 650. 00 M (OB, {HFFLL U7 HFEHL 1, 150. 00 H)
HLA—B#Hfa 3 (BERaa—2) 15, 180. 00 M (5, {HFBLKL U7 iH#EHL 1, 380. 00 M)
HLA—BBfa 7 (9Lha—2) 10, 120. 00 4 (OB, {HEBLL OHITHER.  920. 00 )
HLA—C# 7 (ff = — %) 12, 650. 00 4 (OB, {HEBLL OHIITHERL 1, 150. 00 )
HLA—C#z T (E2a—2X) 15, 180. 00 [ (5B, {H#EBL K OHITHEEL 1, 380. 00 )
HLA—C# a1 (PLh=—2) 10, 120. 00 4 (Oh, {HEBL L OHITHER.  920. 00 )
HLA—DRB1E/{A 77 (= — %) 12, 650. 00 1 (OB, {HEBL L O HERL 1, 150. 00 1)
HLA—DRBULitfz 78 (EHa=—2X) 15, 180. 00 1 (OB, {HEBL L U7 HERL 1, 380. 00 1)
HLA—DRB1EE T (PLy=1—2) 10, 120. 00 1 OB, {HEBL L OHIHER  920. 00 1)
Bl AU X L (FitE=—2) 27, 500. 00 [ (55, {HEBLL O T H#EHBL 2, 500. 00 1)
Bl AV XL (ERa—A) 33, 000. 00 [ (5, {HEBLL OHFHESBL 3, 000. 00 1)
BT AY XL (PLha—2) 22, 000. 00 [ (5, {HEBLL OHFHESBL 2, 000. 00 1)
HLAZZA 1 Hilk A — =7 (i —2) 11, 000. 00 [ (5h, {HEBL K OHIJTHERL 1, 000. 00 )
HLAZZA 1 Hik A — =27 (Bfaa—2) 13, 200. 00 4 (5h, {HEBL K OHIJTHERL 1, 200. 00 )
HLAZZA 1 HUE A — =27 (pLha—2) 8, 800. 00 M (b, IHEBI L OHIIHERL  800. 00 1)
HLAZZ AN HUR A — =7 (B — ) 11, 000. 00 [ (5B, {HEBL K OHIJTHERL 1, 000. 00 )
HLAZZANAAS ) — =2 7 (Efa—2R) 13, 200. 00 [ (OB, {HEBL L OHIITHERL 1, 200. 00 1)
HLAZ ZANHUEAY ) — =0 7 (L z—2R) 8, 800. 00 [ (56, IHEBLLUHIFIHES.  800. 00 1)
HLAZZ2 1 HifkRIE (= —2) 22, 000. 00 [ (556, HEBLL UHTIHESL 2, 000. 00 1)
HLAZ Z2 T filRRE (Ea=—2) 26, 400. 00 [ (56, HEBLL UHTIHESL 2, 400. 00 1)
HLAZZ A 1 HUKFE (dLh=a—2) 17, 600. 00 [ (OB, {HEBL L O HERL 1, 600. 00 1)
HLAZZ A ML KRIE (= — =) 22, 000. 00 [ (556, HEBLL UHITHESL 2, 000. 00 1)
HLAZ Z 2 TR E (Ea=—2) 26, 400. 00 [ (56, HEBLL UHTIHESL 2, 400. 00 1)
HLAZ Z A MFUATFE (P Lh=m—2) 17, 600. 00 [ (OB, {HEBL L O HERL 1, 600. 00 1)




